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The figures in the margin indicate full marks for the questions

PART—I /2% &2t

" (-Botany )
(Bfewiwin )

"1, What is inflorescence? Mention the special types of
inflorescence with example. 1+2

Tﬂﬁmﬂﬁs?w«tﬂrﬁmm?{’ﬂﬁw%zmwu

2. Define transpiration. Write its types. 1+2
2T TRl ol | TR PRI ot |
Or/e3r

Explain the graphic representatlon of glycolytic process of
plant respiration. _ 3

memvﬁf‘mwwwn
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3. Who discovered the plant cell? 1
B P e SRR TR 2 ' |

4. What is stomata? . 1
NG 1 ?

5. Why is potato called underground stem? L 1
SR R RS e @l = 2 ‘ ’

6. Name four whorls of a complete flower. 2
BT Sofef Forq GIfR1 5w AW Brar i - ]

7. Write the harmful role of fungi. 2
CSFT SRR Bl v |

8. Differentiate between simple tissue and complex tissue. 2
9 T T Giow PR We N B |

9. Draw and label an yeast cell. . ' 2

<128 I TR i s 1|

10. Distinguish between prokaryotic cell and eukaryotic cell. 2
ACPIRCFEN (P S IR (I A6 N1 31 |
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11. What is hormone? Mention various growth hormones
found in plants. | 1+2

za’ 7 S coman Rfew 3% =g+ SeEe F

12. Describe the different types of vascular bundles found in
the plants ‘ 3

%%Wcmﬁﬁwawﬁﬁwwml

13. Define mitochondria. Describe the structure and functlons
of mitochondria with diagram. ; - 1+4

wﬁ%’a@mﬂmﬁmniﬁwtﬂrﬂ@’a@mmwmaw
F0

Or/ %31

What is. five-kingdom classification? Write the major
characters of five-kingdom classification. - 1+4

Sit5-arem Tl R 2 -1 AR 24 SRAT foran |

14. Describe the major differentiating characters in between

Calvin cycle (C; plants) and Hatch-Slack pathway
(C4 plants) of photosynthesis. 5

ACAFRCAR TR 5&F (C; TRw) o @G-G7F oo (C, BRW)I
Ve 4 PP SRACIR I 741 |
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 PART—II/feIm =i

( Zoology )
' (affRER)

1. Choose the correct answer : - ' 1x5=5

g% TeqChl A Sferear

(a) Which one of the following animals is hermaphrodite?
T (P! et Tl 2 |

(i) Honey bee
¢
(i) Housefly
TR
(iii) Ascaris
IR
(iv) Leech
8
(b) Islets of langerhans’ is found in
‘EIERTER RegE’ AR I
(i) spleen
s
(ii) liver
R
(iij) pancreas
e
(iv) pituitary gland

PIREced s
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. (d)

(e)

8C/16

(S)

The number of cranial nerves in a mammal including:
man is

T S S TR zfﬁl—ﬂf%smgﬁmnm
(i 10
(i) 12
(iti) 24
(iv) 36
Antigen is not present in Wthh of the blood groups?
@RRY TS (I aﬁmﬂ WF?
(i) Blood group A
(i) ‘Blood group B
I B
(iij) Blood group AB
o7 AB
(iv) Blood group O
T O
The primary- structure of protein is due to
oo enafi A1 IR T
(i) hydrogen bonds
REVHCTRET]
(i) peptide bonds
CorpiRe I
(iii) ionic bonds
(iv) disulphide bonds
CRREFIRE IT
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2. ‘Write the answers very briefly (any four) : . 1%x4=4

(a) What is flame cell’ ?
Prr o’ B2

(b) What is called the pacemaker of the heart?
ﬁﬁ%@aamﬁcmz$maaﬁiawms§? ‘

(c) What is the functlon of renmn?

e o ¥ 2

(d) Why is toad called poikilothermic? ‘
AT & AR I PRI W 2 SRR

(e) What is synapse?
QR 2

(/) What is anaerobic respiration?

RIS P 52

3. Write the difference between the following (any two) :
2x2=4
©1e faICares e <nef o (R e i)

(a) Bilateral symmetry and Radial symmetry
e Sfre W w_R sfie

(b) Ectoparasite and Endoparasite

IR oRER T TBoRE[N
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(c) Blood and Lymph
I TIF AP

(d) Ureotelic animal and Uricotelic animal

LTReGrRe o ore TR GRR 4

4. Answer the. following briefly (any three) : - 2x3<6
wore THAIART Bed vaes fr (R e Fof) - |
(a) ‘Write four distinctive characters of mammalia.

G oifker @ arer fora o

(b) Why is meosis division most essential for sexually
reproduced animal?

eI 2% 391 &1 I e feg Remm [ S e 2

(c) Why is enzyme called as organic catalyst?
TS [ (o TEhS e (PRI = ?

(d) What is Bohr's effect?
T N 2

(¢) Write the chemical properties of hormone.
5. Write short notes on (any two) : 3x2=6
oY (el o (R e i)

(a) Prototheria
"B R

(b) Connective tissue
IREAESF FAl
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(c) Dentition in man
TIyes @R

(d) Cell cycle
(FH °F

(e) Reflex action

O BT
6. What is digestion? Wnte briefly the process of digestion in
stomach. | 1+4=5
oA ¥ 7 =g ~oTfere R s for |
Or/9r T

What is haemoglobin? Write the role of haemoélobin m the

transportation of oxygen and carbon-dioxide present in the
blood. 1+4=5

WaRa &2 WWWWWWWT
e R g &, forn

What is excretion? What.are the excretory products? Write
the process of urea formatlon ‘ 1+1+3=5

@ R 2 @om 4R R 5 2 R oo ﬁmﬁﬁmmn
Or/W

What is nucleic acid? How many types of nucleic acid are
there? Describe the molecular structure of DNA. 1+1+3=5

WW%?WWW@W”@ . 9.3 Tafke
515 I F91 |

* %k
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